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10. Estimation and Testing for Population Proportions 
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Instead of estimating ( and (, we are now going to be estimating p, the population proportion.  

10.1 Confidence Intervals for a Population Proportion

Review of the binomial distribution: 

n = # of trials

( = probability of success or proportion of population 

       with a certain characteristic 

X = # of successes

Suppose we want to estimate (.  Unfortunately, KPG decides to change the notation and denote ( as “p”.  Thus, the population proportion is defined as
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In order to estimate p, a sample is taken and the sample proportion is calculated.  KPG denotes the sample proportion as 
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The symbol, 
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, is read as “p hat”.  Therefore, similar to how 
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 estimates (, 
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 estimates p.  

Notes: 

· 
[image: image7.wmf]ˆ

p

 is a random variable.  It varies from sample to sample to sample…

· Similar to how 
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, the expected mean value of 
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 is p and its expected standard deviation is 
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Therefore, if a very large number of samples were taken and 
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 was calculated each time, the mean of the 
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’s would be p and the standard deviation would be 
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· We can apply the Central Limit Theorem to find that 


[image: image15.wmf]ˆ

pp

Z

p(1p)

n

-

=

-


has an approximate standard normal distribution.  This is provided the sample size is “large” enough – similar to when we worked 
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.  When working with proportions, a rule of thumb for being large enough is np>5 and n(1-p)>5.  For “small” samples, see p.414-5.  

· Since we the Central Limit Theorem is used, we can derive a confidence interval again.  The (1-()100% confidence interval is 
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Remember that P(Z>Z(/2)=(/2 where Z is a standard normal random variable.  Since the confidence interval is for p, we can not have p in the formula!  This is similar to the problem on p. 7.22 of the notes with respect to the C.I. for (.  In that case, we had a population parameter, (, in the formula.  

· To fix the C.I. formula above, two things are done.  First,   
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’s replaces the p’s in the standard deviation part of the formula.  Second, since 
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 is used to estimate the standard deviation.  Therefore, the (1-()100% confidence interval for p is 
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Written another way,
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Example: PATs (PAT.xls)

Bilder and Loughin (1998) examine the probability of success for placekicks in the NFL during the 1995 season.  In a sample, they find the proportion of successful point after touchdowns (PATs) to be 742/753 = 0.9854.  Find a 95% C.I. for the true proportion of successful PATs.

The C.I. is 
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Thus, 0.9768(p(0.9940.  

Below are the calculations done in PAT.xls.  
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What happens to the C.I. for a different confidence level, a different n, or a different X?  Make sure you understand what happens and why it happens!  The PAT.xls file is set up so that the calculated C.I. will automatically update if any of the red numbers are changed.  

Choosing the sample size

This again is similar to choosing the sample size when we wanted |
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The sample size formula is 
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Notes: 

· Interpretation: To be (1-()100% confident that |
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-p| ( E, sample at least n units from the population.  

· Problem: What is 
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p

?  We want to estimate 
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 using a sample, but 
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 is being used to determine what the sample size is!  Fortunately, there is a conservative solution to the problem.  Find the 
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).  Why is this desirable?
  

Examine the table below.
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	0.1
	0.09

	0.4
	0.24

	0.45
	0.2475

	0.5
	0.25

	0.55
	0.2475


Therefore, 
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=0.5 maximizes 
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Example: Political Polls

Suppose you want to determine the percentage of Oklahoma registered voters who will vote for Bush or Gore in the 2000 Presidential Election (assume this is back in October 2000 before the election).  How large of a sample should be taken so that the margin of error is less than (3.5% with 95% confidence.  
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If this had resulted in a non-integer value (like 785.2), the next largest integer would need to be chosen (786).  

Suppose in the resulting poll Bush has 52% and Gore has 49%.  Who is leading?

Note about the margin of error:

The margin of error needs to be added or deducted from both candidates in a two-person race.  For example, suppose candidate A was leading candidate B 55% to 45% with a margin of error of (5%.  This is still an “even race” since candidate A could be as low as 
55%-5%=50% and candidate B could be as high as 45%+5%=50%.  

Example: Clinton and Dole 1996 presidential race

There were two polls taken by a TV network right before and right after Dole chose Kemp as his running mate.  Below are the results.

	
	Before
	After

	Clinton
	53%
	52%

	Dole
	37%
	39%


After presenting the results of the pole, a TV news anchorperson said, “Kemp has helped Dole in the presidential race.”  Suppose E=4%.  What do you think about this statement?

Note about the confidence level: 

There are many polls taken and usually the margin of error is given.  What do organizations taking the polls and stating the results rarely (if ever) mention the confidence level?

Example:  Hagel and Nelson 1996 Nebraska senate race

This article appeared in the Omaha World-Herald shortly before the November 1996 election.  The Omaha World-Herald had the Gallup Organization take a poll to estimate the proportion of people who would vote for the candidates.  Focus on the part entitled “Here’s How W-H Poll Was Conducted”.  

Notes: 

· Hagel won the 1996 election.  Notice he was “behind” 49% to 44% in late October.  

· Nelson won an election in 2000 for the other Nebraska seat in the senate.  
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Continued from Page 1

reference could change before the

ov. § election.

Much of the baule in the Senaie
race is being waged among Republi-
cans, who lead Democrats in Nebras-
ka by 110,000 registered voters.

Typical of the Republican swin
voters were Darlene Weborg, 32, of

Rancroft Neb, and Fina Nave of
Omaha.
Mrs. Weborg, a farm wife who

described herself as a moderate, told
interviewers that she supported Hagel
but could change her mind

“He's done a good job,” Mrs. We-
borg said of Nelson. “I think Ben
Nelson cares a lot for education, and
T'm going back o school to become a
teacher.”

“I'd like to give someone a chance,”
she said of Hagel. She said her hus-
band and other Republican farm fa-
milies are pushing her 1o stay in the
fold.

Mrs. Nave, 34, and a moderate
Republican, told interviewers last week
that she supported Nelson. When con-
tacted laterin the week, she had changed
her mind to Hagel

As a new homeowner in northwest
Omaha, Mrs. Nave said, she was re-
sponding to Hagel's criticism of Nelson
‘on property taxes.

i accusations against Nelson for
not dealing with property taxes s one
issue among the increasingly ferocious
attacks and counterattacks between the
candidates.

The Nelson and Hagel campaigns
each found good news i the survey
results, z

“We're dlearly gratified we are in
the lead, where we've been this whole
campaign,” said Scolt Intagliata, Nel
son campign maner. I looks ke
we are poised (o win.”

“The closencss of the race,

10 the poll results, did not surprise
Intaglista. He said Nelson's surveys
show him further in the lead.

“We always knew this race would
tighten.” he said.

Lou Ann Linchan, Hagel campai
manager, said: “These numbers vali-
date everything we've been secing.”

Based on the intemal results of
Hagel's polls. Mrs. Linchan said, “Let’s
have the clection today.”

With the incumbent governor below
50 percent after six years in office,
Mrs. Linehan said, the results are
engouraging o Hogel

She said Hagel has an advantage as
a Republican, running with Bob Dole
at the top of the Republican ticket and
three GOP congressmen on the ballot.

Moore said both sides will have to
remain on the attack in the war for
Republican and independent voters.

th candidates had positive favor-
able ratings and similar negative rat-
m?‘ in the survey.

clson wasviewed favorably by
two-thirds. of those surveyed and by

———dun hi3Fefthe Republicans.

nd Neck

‘The World-Terald Poll is a public
o%i:im\ s of adults 18 and older
who live in Nebraska and identify
themselves as registered voters.

‘The results of the latest poll were
based on telephone interviews of
1,006 registered voters. The tele-

hone survey was conducted for The
jorld-Herald  on  Wednesday,
Thursday and Friday by the Gallup
O tion in Princeton, N.J.
o ensure representation of hard-
to-reach Nebraskans — typically
adults and single pople —
e auepts et e e e
cach bousehold,
* Random J:E;l dialing is used to

make sure (hat every residential
phone number has as good  chance
of being called as all other residential
numbers.

For the latest survey, 502 people
were contacted in the Fd Com

sional District, 252 in the Ist Con-
gressional District and 252 in the 3rd

Congressional District.

Statewide results were weighied by
a statistical specialist at Gallup to
ensure that each congressional dis-
trict's representation in the sample
was proportionate 10 the population.
A weighting process also was used 10
ensure appropriate representation by
ag%:x.;lumm adnce, -

's statistical margin
error, based on the entire sample of
1,006, was plus or minus 3.4 percent-
age points at a confidence level of 95
percent. Such a sampling error
‘means that f the survey sere repeat-
ed 20 times, the results would be
within the 34 percentage point
range lsor minus, 19 s

e statistical margin of error for
various subgroupsis larger.

For example, the statistical margin
of error was plus or_minus 48
percentage points in the 2nd District
and plus or minus 68 percentage
‘pointsin the Ist and 3rd Districts.

Sutietca
purcentage
Survy conductad 0ot 24 28

of gror 34,

Hagel had a favorable rating of 55
percent in the total sample, 73 percent
among Republicans and 35 percent
among Democrats,

When voters fecl favorably about
both candidates, they tend o vote
um_;rg:ny. Moore said. P

(5 ‘why negative advertising is
sopopular,” he said.

elson’s case, Moore said, “You
have to drive up your opponeat’s
negatives to pull sy Repoblcans
e A

ven_ with overwi

T Datckeaabu 1o s
iage among independents andone it
ter of the Republicans, he said, “Nelson
barelywins.”

Nelson has pulled Republican votes
before. In winning o second term as
governor in 1994, he polled a majority
of Republicans while racking up the

largest percentage victory in 50 years.
ut Nelson s has woa the cose

anes.

In the final lection  World-
Herald Poll in 1990, Nelson was favored
over thea-Goy. Kay Orr by 42 percent to
41 percent. He won the eléction by 4,030
votes. In the Democratic primary that
year, Nelson won the nomination by
only 41 votes.

lagel has never run for office before,
but he managed Republican John Y.
McCollister's unsuccessful Senate bid
against Democrat Edward Zorinsky in
1876. Zorinsky's victory was the first in
astringof seven straight Senate victories
’“‘&‘L r:s:; ‘gehmnmhu,

r highlights of the survey:

W Geography: Hagel held 3 49 per.
cent 1o 43 percent advantage in west-
em Nebraska's 3rd Congressional
D‘iﬁ::;n led Hagel by 6 percent

4 g
mts in the Om.}ha»ﬁnmml:d ZnE;
istrict and by 13 points in the Ist
District, which includes Lincoln.

W Gender: The so-called gender gap
of women favoring Democratic candi-
dates surfacﬁ o n:; survey. N'e_l.w});
was suy 52 percent of d
wummpgxnrvmed,y compared with 40
percent for Hagel MClI-I‘ wr;lrc fsplil 4

1045 percent in Hagel's favor.
TR Captet,
son did best among younger voters,
holding a 10-point advantage among
those ages 18 10 30. He led by § points
among those ages 30 to 55 and by 2
points among those 55 and older.

Hagel was mgum‘med by a majority
of college graduates and those caming
$50,000 or more. Nelson led in other
education and income categorics.

‘A series of questions was posed:

If the general election were held

today, would you voe for Ben Nelson,
the Democrat, or Chuck Hagel, the
Republican?

s that a firm cholce, or is it possible
you could change your mind by Elec-
tion Day?

Next, 1 will read the names of some
people in the news. As | read eact
name, please tell me if you have
favorable or unfavorable opinion of thi
person, or If you have never heard o
himn. Chuck Hagel? Ben Nelson?

The names of two other Semat
candidates will appear on the ballot
but they were not included in th
survey on the advice of Gallup.

‘The minor-party candidates are Johs
DeCamp, Libertarian Party, and Bil
Dunn, Natural Law Part
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The World-Herald Poll is a public
o;})‘inion survey of adults 18 and older
who live in Nebraska and identify
themselves as registered voters.

The results of the latest poll were
based on telephone interviews of
1,006 registered voters. The tele-

hone survey was conducted for The

orld-Herald on  Wednesday,
Thursday and Friday by the Gallup
Organization in Princeton, N.J.
‘0 ensure representation of hard-
to-reach Nebraskans — typically
ounger adults and single people —
{hreegalumpls were mi’de to reach
each household.

* Random digit dialing is used to
make sure that every residential
phone number has as good a chance
of being called as all other residential
numbers.

For the latest survey, 502 people
were contacted in the 2nd Congres-
sional District, 252 in the Ist Con-
gressional District and 252 in the 3rd

Congressional District.

Statewide results were weighted by
a statistical specialist at Gallup to
ensure that each congressional dis-
trict’s representation in the sample
was proportionate to the population.
A weighting process also was used to
ensure appropriate representation by
age, sex, education and race.

The poll's statistical margin of
error, based on the entire sample of
1,006, was plus or minus 3.4 percent-
age points at a confidence level of 95
percent. Such a sampling error
means that if the survey were repeat-
ed 20 times, the results would be
within the 3.4 percentage point
range, plus or minus, 19 times.

€ statistical margin of error for
‘various subgroups is larger.

For example, the statistical margin
of error was plus or minus 4.8
percentage points in the 2nd District
and plus or minus 6.8 percenta;
points in the Ist and 3rd Districts.





Hypothesis Testing for a Population Proportion

Perform a hypothesis test for p.  

Test Statistic Method

1) State Ho and Ha
	Ho:
	p= po
	p ( po
	p ( po

	Ha:
	p ( po
	p > po
	p < po


where po is the hypothesized value

2) Test Statistic
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3)     Critical Value

	Ha:
	p ( po
	p > po
	p < po

	
	(Z(/2
	+Z(
	-Z(


4)   Reject or Don’t Reject Ho  

Reject Ho in a similar manner as done when testing the population mean.  Below is a diagram for a two-tail test.  
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5) Conclusions

P-value method

1) Same

2) Find p-value

Calculate the test statistic, 
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The p-value is:

	Ha:
	p ( po
	p > po
	p < po

	
	2(P(Z>|Z(|)
	P(Z>Z()
	P(Z<Z()


In Excel, the NORMDIST( ) function can be used to help calculate the p-value.  For example, for a two-tail test, the function used is 

2*(1-NORMDIST(abs(Z(),0,1,TRUE))
3) State (
4) Reject or Don’t Reject Ho – Decide the same way as with a hypothesis test for the population mean

5) Conclusions

Notes: 

· The p-value method could also be discussed here, but it will be omitted.  Notice there is a small chance that a different answer could result with the p-value method.  Why
?  

· In order for this hypothesis test to work (for example, have the specified type I error rate (), the sample size needs to be “large” enough.  Large here is defined as npo>5 and 
n(1-po)>5.  

Example: M&M’s (m_m.xls)

M&M’s makes the following claims for their Plain M&M’s color distribution (www.m-ms.com/factory/history/ faq1.html):

	Color
	Percent
	

	Blue
	10%
	[image: image51.png]"M&M's"® PLAIN
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	Brown
	30%
	

	Green
	10%
	

	Orange
	10%
	

	Red
	20%
	

	Yellow
	20%
	


Test the red M&M’s claim using (=0.10.

I bought a one-pound bag of M&M’s and assumed this was a random sample from the population of all M&M’s.  This may be INCORRECT, but this will at least illustrate how to perform a hypothesis test for a proportion. 

In my sample, I found X=91 and n=515.  Therefore, 
[image: image52.wmf]ˆ

p

=X/n=0.1767.  

1) Ho:p=0.20 
Ha:p(0.20

2) 
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3) (Z(/2 = (1.6449 from Excel

4) Since -1.6449 < -1.3220 < 1.6449, do not reject Ho
5) There is not sufficient evidence to disprove the claim of M&M’s.  

Below is part of the Excel file used to perform the calculations.  
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Questions: 

· Suppose M&M’s claim about the red proportion is really true.  Also, suppose 1,000 samples of size 500 M&M’s are taken.  For each sample, a hypothesis test of Ho:po=0.20 vs. Ha:po(0.20 is performed with (=0.10.  How many of the hypothesis tests would you expect to incorrectly reject Ho?  Explain your answer.

· Suppose one sample is taken, but it is now of size 10,000.  Also, suppose the sample proportion is still 0.1767.  Without going through the calculations, what would you expect would happen to the test statistic?  Why?
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Don't Reject Ho

Critical Value

Reject Ho

Reject Ho

0

Critical Value

f(x)

Z

Probability

Standard Normal Distribution

0.0001338302

0.0001986555

0.0002919469

0.0004247803

0.0006119019

0.0008726827

0.0012322192

0.0017225689

0.0023840882
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0.3122539334

0.3332246029

0.3520653268

0.3682701403

0.3813878155

0.391042694

0.3969525475

0.3989422804

0.3969525475

0.391042694

0.3813878155

0.3682701403

0.3520653268

0.3332246029

0.3122539334

0.2896915528
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0.2419707245

0.217852177

0.194186055

0.171368592

0.1497274656
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0.0940490774

0.0789501583

0.0656158148

0.0539909665
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0.0283270377
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0.0175283005

0.0135829692

0.0104209348

0.0079154516

0.0059525324

0.0044318484

0.0032668191

0.0023840882

0.0017225689

0.0012322192

0.0008726827

0.0006119019

0.0004247803

0.0002919469

0.0001986555

0.0001338302

0.0000892617

0.0000589431

0.0000385352

0.0000249425

0.0000159837

0.0000101409

0.0000063698

0.0000039613

0.000002439

0.0000014867

0.0000008972

0.0000005361

0.0000003171
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0

0

0

0

0

0

0
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0

0

0

0
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4.15859897911563E-19
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7.64165541158905E-30
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normal_dist2

		Normal Probability Distribution Spreadsheet																										Calculations for graph

								mu		sigma																X		f(x)				X is a data value

								0		1																-4		0.0001338302				f(x) is the Normal probability distribution value evaluated at X, mu, and sigma

																										-3.9		0.0001986555

																										-3.8		0.0002919469

																										-3.7		0.0004247803

																										-3.6		0.0006119019

																										-3.5		0.0008726827

																						0				-3.4		0.0012322192

																										-3.3		0.0017225689

																										-3.2		0.0023840882

																										-3.1		0.0032668191

																										-3		0.0044318484

																										-2.9		0.0059525324

																										-2.8		0.0079154516

																										-2.7		0.0104209348

																										-2.6		0.0135829692

																										-2.5		0.0175283005

																										-2.4		0.0223945303

																										-2.3		0.0283270377

																										-2.2		0.0354745928

																										-2.1		0.043983596

																										-2		0.0539909665

																										-1.9		0.0656158148

		NORMDIST(x,mean,standard_dev,cumulative)																								-1.8		0.0789501583

		Example:		NORMDIST(2,1,1,True)																						-1.7		0.0940490774

				0.8413447402																						-1.6		0.1109208347

																										-1.5		0.1295175957

		Example:		NORMDIST(2,1,1,False)																						-1.4		0.1497274656

				0.2419707245																						-1.3		0.171368592

																										-1.2		0.194186055

		When cumulative=True, returns probabilities to the left - P(X<2)=0.841345																								-1.1		0.217852177

		When cumulative=False, returns value for the equation of f(x) - f(X=2)=0.241971																								-1		0.2419707245

																										-0.9		0.2660852499

																										-0.8		0.2896915528

																										-0.7		0.3122539334

		NORMINV(probability,mean,standard_dev)																								-0.6		0.3332246029

		Example:		NORMINV(0.841345, 1, 1)																						-0.5		0.3520653268

				2.0000007933																						-0.4		0.3682701403

																										-0.3		0.3813878155

		Given a probability, fills in the blank to P(X<_)=probability (with mu=  and sigma=  )																								-0.2		0.391042694

		- P(X<2.000001)=0.841345																								-0.1		0.3969525475

																										0		0.3989422804

																										0.1		0.3969525475

																										0.2		0.391042694

																										0.3		0.3813878155

																										0.4		0.3682701403

																										0.5		0.3520653268

																										0.6		0.3332246029

																										0.7		0.3122539334

																										0.8		0.2896915528

																										0.9		0.2660852499

																										1		0.2419707245

																										1.1		0.217852177

																										1.2		0.194186055

																										1.3		0.171368592

																										1.4		0.1497274656

																										1.5		0.1295175957

																										1.6		0.1109208347

																										1.7		0.0940490774

																										1.8		0.0789501583

																										1.9		0.0656158148

																										2		0.0539909665

																										2.1		0.043983596

																										2.2		0.0354745928

																										2.3		0.0283270377

																										2.4		0.0223945303

																										2.5		0.0175283005

																										2.6		0.0135829692

																										2.7		0.0104209348

																										2.8		0.0079154516

																										2.9		0.0059525324

																										3		0.0044318484

																										3.1		0.0032668191

																										3.2		0.0023840882

																										3.3		0.0017225689

																										3.4		0.0012322192

																										3.5		0.0008726827

																										3.6		0.0006119019

																										3.7		0.0004247803

																										3.8		0.0002919469

																										3.9		0.0001986555

																										4		0.0001338302

																										4.1		0.0000892617

																										4.2		0.0000589431

																										4.3		0.0000385352

																										4.4		0.0000249425

																										4.5		0.0000159837

																										4.6		0.0000101409

																										4.7		0.0000063698

																										4.8		0.0000039613

																										4.9		0.000002439

																										5		0.0000014867

																										5.1		0.0000008972

																										5.2		0.0000005361

																										5.3		0.0000003171

																										5.4		0.0000001857

																										5.5		0.0000001077

																										5.6		0.0000000618

																										5.7		0.0000000351

																										5.8		0.0000000198

																										5.9		0.000000011

																										6		0.0000000061

																										6.1		0.0000000033

																										6.2		0.0000000018

																										6.3		0.000000001

																										6.4		0.0000000005

																										6.5		0.0000000003

																										6.6		0.0000000001

																										6.7		0.0000000001

																										6.8		0

																										6.9		0

																										7		0

																										7.1		0

																										7.2		0

																										7.3		0

																										7.4		0

																										7.5		0

																										7.6		0

																										7.7		0

																										7.8		0

																										7.9		0

																										8		0

																										8.1		0

																										8.2		9.99837874849796E-16

																										8.3		4.38163943550973E-16

																										8.4		1.90108153790813E-16

																										8.5		8.1662356316703E-17

																										8.6		3.47296274856653E-17

																										8.7		1.46229635750079E-17

																										8.8		6.09575812956307E-18

																										8.9		2.51580577695169E-18

																										9		1.02797735716701E-18

																										9.1		4.15859897911563E-19

																										9.2		1.66558803238012E-19

																										9.3		6.60457986074015E-20

																										9.4		2.59286470110072E-20

																										9.5		1.00779353943014E-20

																										9.6		3.87811193174748E-21

																										9.7		1.47749549270447E-21

																										9.8		5.5730000227216E-22

																										9.9		2.08117682020315E-22

																										10		7.69459862670762E-23

																										10.1		2.8165665442767E-23

																										10.2		1.02073055943078E-23

																										10.3		3.66234516855605E-24

																										10.4		1.30096161992415E-24

																										10.5		4.57537559052165E-25

																										10.6		1.59311113270127E-25

																										10.7		5.49189783181887E-26

																										10.8		1.8743724023422E-26

																										10.9		6.33353782183196E-27

																										11		2.11881925350981E-27

																										11.1		7.01775994266285E-28

																										11.2		2.30123070884866E-28

																										11.3		7.47100227588528E-29

																										11.4		2.40134540000912E-29

																										11.5		7.64165541158905E-30

																										11.6		2.40756113183992E-30

																										11.7		7.50972877249845E-31

																										11.8		2.31914677725674E-31

																										11.9		7.09070266843007E-32

																										12		2.14638373566367E-32

																										12.1		6.43254033463758E-33

																										12.2		1.90859913463736E-33

																										12.3		5.60665692630558E-34

																										12.4		1.63061073484015E-34

																										12.5		4.69519535797661E-35

																										12.6		1.33848679925471E-35

																										12.7		3.77773572115035E-36

																										12.8		1.05561635024563E-36

																										12.9		2.92036879386913E-37

																										13		7.99882775700954E-38

																										13.1		2.1690624002614E-38

																										13.2		5.82337559973864E-39

																										13.3		1.54787046629678E-39

																										13.4		4.07334767752941E-40

																										13.5		1.06126881391562E-40

																										13.6		2.73751419235636E-41

																										13.7		6.99108224970927E-42

																										13.8		1.76762241025425E-42

																										13.9		4.42477958331799E-43

																										14		1.09660655938944E-43

																										14.1		2.69071123564357E-44

																										14.2		6.53642677532144E-45

																										14.3		1.57206595860645E-45

																										14.4		3.74333057988676E-46

																										14.5		8.82475497459896E-47

																										14.6		2.0597010224099E-47

																										14.7		4.75951575302287E-48

																										14.8		1.08887595532826E-48

																										14.9		2.46632952588181E-49

																										15		5.53070954984725E-50

																										15.1		1.22791316722761E-50

																										15.2		2.69905364438971E-51

																										15.3		5.87370906628051E-52

																										15.4		1.26552404660545E-52

																										15.5		2.69951302459008E-53

																										15.6		5.70108489094445E-54

																										15.7		1.1920285127798E-54

																										15.8		2.46758905156703E-55

																										15.9		5.05726930437837E-56

																										16		1.02616307279252E-56
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